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DO000000o00oodd O M:The Golden Lion sounds like
a nice place to eat. W: Ok, let’ s go there. I hear that they have a
complete menu and a warm atmosphere. Q: Where are the man and
the woman going? (1989.1) A. To the beach. B. Toaplay. C. To a
movie theater D. To a restaurant. 1 menulJ [0 [ [J a nice place to
eatU O U0O0OOOOOOODO O M: How about the food |
ordered? I’ ve been waiting for 20 minutes. W: I’ m very sorry, sir.



I” 1l be back with your order in a minute. Q: Who is the man most
probably speaking to? A. A shop assistant. B. A telephone operator.
C.AwaitressD. Aclerk. Jorder0 0 0 OO0 OO O0OCO O
M: Why didn’ t you stop when we first signaled? W: I’  m sorry.
Will | have to pay a fine? Q: What is the probable relationship
between the man and the woman? A. Policeman and driver. B.
Policeman and thief. C. Teacher and pupil. D. Director and actress.
O signal, stop,payafineld D OO0 0O O00OO0O0OO0OO
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[ OO There are many reasons why family life in Britain has changed
so much in the last 50 years. The liberation of women in the early
part of 20th century and social and economic effects of the World
War Two had a great impact on the traditional family life. Women
became essential to industry and professions. During the war, they
had worked in factories and proved their worth. Now with the loss of
millions of man their service was indispensable to the nation. More
recently great advances in scientific knowledge, and particularly in
medicine have had enormous social consequences. Children are
better cared for and are far healthier. Infant death rate was low.
Above all, parents now can plan the size of their family if they wish to
more effective means of birth control. Different attitudes to religion,
authority and tradition generally have also contributed to changes in



family life. But these developments have effected all aspects of
society. It is particularly interesting to know that the concept of the
family as a social unit has survived all these changes. Q: What is the
passage mainly about? A. The liberation movement of British
woman. B. Rapid economic development in Britain. C. Changing
attitudes to family life. D. Reasons for changes in family life in Britain.
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